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Comment:

This isn't a very good approximation; as k-> + infinity, the series p(1)

- "the alternating harmonic series” - will converge slowly. How slow? It takes k=72
to get 1 percent accuracy: https://www.wolframalpha.com/input/?i=1-%281%2FIn
+2%29*%28sum+%28-1%29%5E%28j%2B1%29%2Fj%2C+j%3D1+to+71%29
(clickable! You can change "72" to "721" for 0.1 percent if you are curious.)

If you click at ,
https://www.wolframalpha.com/input/?i=maclaurin+series+In%281%2Bt%29
you can see for t = 1 (and also to the right!) how the odd-numbered k=1 and k=3
polynomials overshoot and the even-numbered k=2 and k=4 undershoot the true

value.



https://www.wolframalpha.com/input/?i=1-%281%2Fln+2%29*%28sum+%28-1%29%5E%28j%2B1%29%2Fj%2C+j%3D1+to+71%29
https://www.wolframalpha.com/input/?i=maclaurin+series+ln%281%2Bt%29
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guaranteeing an error less
C P, than 0.84 percent. True
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For more about this: Tuomas' lectures from last year,|click here (from page 3) jor the nect lecture, [click here (first two pages)
<



https://www.uio.no/studier/emner/sv/oekonomi/ECON4120/h18/lecturenotes/lecture-13-nov-2018.pdf
https://www.uio.no/studier/emner/sv/oekonomi/ECON4120/h18/lecturenotes/lecture-14-nov-2018.pdf

